ARCHITECTURAL PLANNING ASSISTANT IN
TOWN & COUNTRY - - 08/01/2022

1. If a person moving from pole to equator, the centrifugal force acting on him
a. Increase b. Decrease
c. Remains the same d. Increase and then decrease
e. Answer not known

QUH BT HiHouSHHHEH Hev BHhHCaT emL CrTeHd aumHbGUTH  jeuet
Bed GFweLLIBD enibwl aflevdE allend eelelTBl B (HbHEGWD

a. 9P &MoHGID b. @emujd C. LDTBTOED BY(HBELID
d. edafdha e Gempud e. alemL Oxflwealsdensv

2. According to Hooke’s law
a. Stress « strain b. Stress = E x strain

strain
c E = d. Both (A) and (B) are correct
stress

e. Answer not known
ames allgluller Ly

a. Hmaa| o Sy b. smaea =E x iy c. E-- 2
SHeNSH6Y

d. (a) w@pid (b) Byewid & e. el Gzflwalsoenen

3. Elephantiasis is caused by

a. Trypanosoma b. Wuchereria bancrofti

c. Ascaris lumbricoides d. Plasmodium vivax

e. Answer not known

wrenenssTer ChTenwl gBUBSHID o ullfl

a. 1fiier@amom b. o _&Fafflwm umsibyiig

C. oleamilerd ebLiflamuiLerd d. Wemmerd@omguid emeueITa6rD

e. alewL G fwalsdenev

4. Haemoglobin in Human has the highest affinity with which of the
following gas?
a. Carbon monoxide b. Methane
c. Nitrous Oxide d. Carbon-di-Oxide

e. Answer not known

SPHMIL.  6bdH  eumujLer  welgeller  aSGom@G@Genmuedlest e  SIFHWOTS
Newewililenen gmBUBSHSH GEmeEmd?

a. &niuer Gremoama® b. 1586 d. epLyerd SuHmFH

C. SMTUST ML HHMF[H e. alewL G flwailsdenev

5. India’s most valuable test player of cricket in the 21st century by Wisden
Magazine is
a. Sachin Tendulkar b. Ravindra Jedeja
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c. R. Ashwin d. Virat Kohli

e. Answer not known

21 &b HIBBIERNged ShHwunelesr WassFfphs GLedl HNsCs’  afgrs
allerOL 61 LISHSHMemBWITED BH6ewlldasLILIL L Ui

a. g&5dla1 QL e HeOBIT b. yaibay o3GLeqr c. R, ojervaier

d. afym’ Gzmel e. allewL Oz fwailsdenev

6. The relief of Doklam, which is a trijunction of India, China and Bhutan is a

a. Mountain range b. Plateau

c. Plain d. Hill

e. Answer not known

@hHw, engFerm  oBmId Yl Lmeler  (pFFhAHlLTer,  ‘BHmhHeomd’ - @edt
FlevHBHTHBBLD

a. IemeVd OHTLIT b. Ly C. g6laler

C. &6l e. alewL G fwalsdenev

7. The National song of India ‘Vande Mataram’ was a part of
Bankimchandra’s most famous Novel
a. Maila aanchal b. Pinjar
c. Anand math d. Poocho Parsai
e. Answer not known
@bgdwumelar CapdFw uTtLed ‘eupBs WISHIL’, UGS  FhHITalEr  LOSHeD

LNTLIGOLOTE0T  [HT6U6D T Q(H UGHUWTGLD.
a. LGV  6hF6V b. eha C. QD DS
d. y&Gam uirsmUl e. alemL Oz flwalsvensv

8. Name of 234 Indian chief Election Commissioner
a. Sunil Varma b. Sunil Singh  c. Sunil Dhatta  d. Sunil Aroro
e. Answer not known
AphHwraler 236015 HmevmD CHTHEL SLENGITUIT GUILIT
a. &edled eUTLoT b. eofled C. Gafled HHBT
d. sefed oGymGym d. elewL GOsMNuwalsvenev

9. The forests are under the direct supervision of the Government and no
public entry is allowed for collection of timber or grazing of cattle
a. Reserved Forests b. Protected Forests
c. Unclassified Forests d. Broad-Leaf Forests

e. Answer not known

odFler CGryg SHewisTeolliled 2 6Ten SHTHH6T WWBMID WJD Oeul Leb, LOTHS6IT
GuuiiugB@ QUTH HHMeN DIDIDHHHTH HT([HH6I

a. PFHIGSILLL HT(HSBH6IT b. UTHIBTHBIUL L BTHBE

C. UMBLUGSHHUILILTSH SHT(HEH6IT d. 9iBsmB e BTH®6

e. alemL G flwaledensv
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10.Which one of the following is the right bank tributary of Godavari river?
a. Purna b. Manjira c. Penganga d. Indravathi
e. Answer not known
Lestau(meueiaummliein GarHmeufl maHuler elevg HlewewT LB 6157
a. Lyeon b. wesregym C. QuenBmIBT
C. @bFHymeus) e. alewL G fwalsdenev

11.The place associated with Shivaji
a. Shivneri b. Yercaud c. Ahmed Nagar d. Hampi
e. Answer not known
FouredujL 61 OHTLTLemL W arT?
a. anfleuGleor b. gBaT®H C. SIABLOSHBHSBT
d. emibL1 e. alenL Oxfwalsdeamev

12.Which of the following pair are correctly matched.

Hills Region
1. Cardamom Hills - Coromandel Coast
2. Kaimur Hills - Konkan Coast
3. Mahadeo Hills - Central India
4. Mikir Hills - North-East India
a.1land 2 b. 2 and 3 c.3and 4 d.2and 4

e. Answer not known
&0 GaThsall LauBpled Fhwmeams OLMTHHHIS

LD 6V 61T ®)L_miseiT

1. gJeLHSBTUI LDEM6L - GgmpLDEWIL 608  HL BN

2. MSBCPIT LDE6V - O®MhIGBedH HL_BHEN]

3. waTHGWT 1em6v - WHHW  AbSHwm

4. OFT D6V - QL FpdHE BbHFHwT
a. 1 oppb 2 b. 2 wBpb 3 C. 3 mmib 4
C. 2 wpmpid 4 e. alewL O flwealsdenso

13.Slaves who were in great demand under the Mughals were
a. Africans b. Afghans c. Abyssinians d. Persians
e. Answer not known
(PHUTWITHGNT 61HSH DANHH DIYMDHMET DIFHHLD LIUITLIH S 01T ?
a. oYIINEHTH6N b. eulismeiwitse C. SNFeNLITHeT
C. QuiTrdlwieiiselt e. alewL G fwailsdenev

14.”The Gupta period is in the annals of classical India almost what the
Periclean age is in the History of Greece”. Who said the above statement?
a. Dr. V.A. Smith b. Dr. Keith c. Dr. Altekar  d. Barnett
e. Answer not known
&HCrss  eugeuBpled  Oufideaiwer smed 6hs SenalBg (WHHWGLT 6%
SlealBG BbhHU eueuTBrled GUSTHeMET HTEVD (PHBHUWISHSHIAUD UTUIHHFH 61607
CuoBHeniL. UTFSHHMSH Famluighl WmT?
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a. (wemeeum V.A. 6005 b. (pemesteui Suig
C. (peneTaUT DI6OBL &BIT d. unrQeor’ e. alenL Oxflwalsdemev

15.The concept of equality before law is an element of the concept of

a. Administrative law b. International law

c. Rule of law d. Constitutional law

e. Answer not known

FLLSIHST (1peT SIMETU(HID FIOWD 6B H(HSHHI(TH 92 MILILTGLD.
a. o FHzemp FLULID b. ueieoIm_BF FL LD

C. FLLGHHeT o d. eydweoemiorig F1Lib

e. alemL G flwalevensv

16.Which of the following are the limitations on the sovereignty of Indian
Parliament?

1. Fundamental Rights 2. Judicial Review
3. Federalism 4. Written Constitution
a.1,3and 4 b.1,2and 3 c.land 2 d.1,2,3 and 4

e. Answer not known

&l Gameveolill (HelTemeuBmiel  @b&HUl  LIMTEHOSIBSHHET  QenBUITERINLIDDHE)

9 6IT6N  GUILDL|SH6IT

1. 9uliuemL 2 _fleniseir

2. BAHLIYeITTUIRY

3. Gl LM &

4. qWSULLL  SFFUIe0mLOLIL |

a. 1, 3 wBmib 4 b. 1, 2 wBmwd 3

c. 1 oBpd 2 d. 1, 2, 3 vpmd 4  e. alew OFflwaisdenev

17.The duties of the state have been listed in which part of the Indian
Constitution?
a. Preamble b. Fundamental Rights
c. Directive Principles of State Policy d. Fundamental Duties
e. Answer not known

@b oFweoemoliyF  FULSHHE 6hdH UGHUlET SD DSl HLenLDSH6I

o160 B(HSLILIBLIEN6USBET LI 19UVl LILIL (heiTerent?

a. (BN b. @uliumL 2 Meniosei
c. odparar auhsT B CBsl(amBEHeiT d. swliuemL & L6l
e. alewL G fwalsdenev

18.Article 14 to 18 of the Indian Constitution explain
a. Fundamental Duties b. Election
c. Right to Equality d. Judiciary
e. Answer not known
SIFwevemoliL] algHdeT 14 (1pgHe0 18 euemy allend@ag)
a. SIQUILIGHL L NLDE6IT b. GxiTged C. FW&HFHIN 2 MemD
d. pdszems e. alemL Oxflwealsdemev

4]Page




19.“The Centre would levy and collect the IGST on all inter-state supply of
goods and services”. What does I is IGST stands for?
a. Internal b. Intra c. Integrated d. Intramural
e. Answer not known
LOTHIEVRIBEHEHEG SewL Guiwimet L6 miseT wBpId CFmeusel H HBUTT ITSH
agals@d IGST - §ev o sten “1” eleiiLger alfleurdsid wimg?
a. Internal b. Intra c. Integrated
d. Intramural e. alenL Oxflwealsdemev

20.In India poverty continues to persist because of
a. Rising Prices b. Rising population
c. Lack of opportunities for employment d. All of these
e. Answer not known
BphHwmaled aupiemd CHTLTHEHI BB, FoleTaIBTeL
a. 2w efemeveurd] b. oiFaflHm aumD WHH6T CHTMSD
C. Gouemev eumUIILTGITENLD d. GuBsv 2 66l DIMGIHHID
e. alewL G fwailsdenev

21.Paper Currency system is managed by the

a. Central Monetary authority b. State Government

c. Central Government d. Reserve Bank of India

e. Answer not known

STHGH LewlD (Lpens 6O BHiTeudSSSILGHBSI.

a. ool Uenraillied gl b. e oya

C. HHW D& d. @badw Mgmen eumid

22.The Sarvodaya plan was formulated by
a. Jaiprakash Narayan b. Mahatma Gandhi
c. Acharya Vinoba Bhave d. M.N. Roy
e. Answer not known
FTGaurswr LD Beugmed o (HeuTdSLlLl L
a. Gmu1 ysmey BIFTUI6NT b. wargwr &b
c. gpFammwm alGuimur urGeu d. M.N. gmu’
e. alewL G fwalsdenev

23.Who remarked these words “Tell me what share I am to have in the

Swaraj”?
a. Sir Syed Ahmed Khan b. Gopala Krishna Gokhale
c. B.R. Ambedkar d. B.G. Tilak

e. Answer not known

“GUIITRUWIGHH60 6Taldh@ 6lelen LEIG SHbIMSEH 6leip CFTeLsmIS6T - @
WIT(HEDL W GUTTSHeNSHBH6IT?

a. &1 WS DIBLDGHBTE b. Gasmumev dlmagewt BsmsBev
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c. B.R. oiib@ugamir d. un.e. FHeosT
e. alewL G flwalsdenev

24, was the editor of the Journal Bharat Mata.
a. Sufi Ajit Singh b. Sufi Amba Prasad
c. Lal Chand d. Dhanpat Rai

e. Answer not known

unys ST uSHFHflbmauier sLffluir

a. &1 95 Fm b. & .10 ouour Kyers

C. 6UT6L Jb d. semg grul e. alenL Oz flwalsdensv

25.The book ‘Poverty and Un-British rule in India” was written by
a. Dadabhai Naoroji b. G.V. Joshi
c. R.C. Dutt d. Ranade
e. Answer not known
“Dilped sSeaoLWUBE S Fujbd, SbHurealer  eUBIDIOW|D” 616815  HITEH6D
ST UIEUT
a. HrHTUTUl GOpenGrmes b. 9.a). Gxmrad d. syr.d. 55
d. gmewiGL e. alewL Oz flwalevensv

26.Arrange the following events in chronological order

1. Moplah Rebellion 2. Santhal’s Rebellion
3. The Great Revolt 4. Champaran
a.3,2,4,1 b.2,3,1,4 c.2,3,41 d.3,1,4,2

e. Answer not known

CaThsHalUl L HHhasmen alflmalILBSHDHIH

1. Gurleoram &lenT&d)

2. FhHPHTeL HleMTFd]

3. OQugpd Yyl &

4. FLoUMyeot

a.3,2,4,1 b.2,3,1,4 c.2,3,4, 1
d.3,1,4,2 e. alenL Oxflwealsvemev

27.Samarasa Suddha Sanmarga Sangam was established by
a. Chattambi Swamigal b. Narayana Guru
c. Ramalinga Adigal d. Ramana Maharishi
e. Answer not known
FIOTEF &HDH FOIOTTHS FRSHNHSH CHTHBIONSHIT
a. UL SeuTdser b. mryTwent &m
C. JMD6IBIGE  DIQHET d. ywewr wafag
e. alewL G fwalsdenev

28.Which one of the statement is/are incorrect regarding Deeran
Chinnamalai?
1. Deeran Chinnamalai participated in the Anglo Mysore war
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2. He organised the soldiers of the Kongu region against the British
3. In 1802 he defeated by the Maxwell in the battle of Odanilai
4. He hanged by British at Sankakiri
a. 1 is correct 2, 3, 4 are incorrect b. 1, 2 are correct 3, 4 are incorrect
c.1, 2, 4 are correct 3 is incorrect d. 1, 2, 3 are correct 4 is incorrect

e. Answer not known

BB FBBIH6Ted SHI6 Fleienr LoamevEmU! LIMNS SHUDTEN  FaBBI agl?
1. Fyein Hleeoensv ShIFeL em@GT GuTTHelled SHevbdl CTewIL T

2. Cemmig BTLG aiffTeamen SRISCOWHDHE 6IHTTE (HHISN6mTSHSBTT
3. 180260 GoserdGleued 6TaliB oML SHJear Fletaroemned GHTisIsH ST
4. el gFhisHMN CamenLulled HMaadle0L LI LT

a. 1 w @ gf 2, 3, 4 HeuBTAISH

b. 1, 2 sflwmeng 3, 4 FHeuprerg)

c. 1, 2, 3 gflwneigl 3 LB SHeUBTEIS

d. 1, 2, 3 sflwneng 4 W B SHaUBTEIS

e. alemL G flualedensv

29.Find out the author of the novel “Auttrankarai Pillaiyar” from the
following:
a. Aringnar Anna b. Jayakanthan
c. Thu. Sa. Iraamamirtham d. Pudumaipithan
e. Answer not known
‘ QIBBRIGSMTL LeTenemTT eleip Fmisendullesr opdlflui
a. 9INEHT SIewTeNTT b. Guwisthge d. gmar. @ymomditsid
d. usiemwLI)SHSHe e. alemL Oxflweailsvensv

30.The playwright Sambantham’s “The Sabaapathi’ belong to
a. Imitation b. Comedy c. Detective d. Socialistic
e. Answer not known
BTL&L Cupmdflwim gbubs WpeHedwnher ‘Fumug)’ 66 [BTL SLOTIS]
a. SH(P6U6L [BITL LD b. WsFFBHS HEFHM BTLHID
C. gIuPlud BTLSLD d. geps BILSID e. alemL G flwalevensv

31."Nadamada Kovil Nambarku rendru eyil
Padamada Kovil Pakavarku Adu Aame”
- the meaning of this “Thirumanthira Padal”
a. Whatever you give to God reaches man
b. Whatever given to man as charity goes to God
c. To help human beings is not the way to reach God
d. To attain Godliness give everything to God
e. Answer not known
“BLomL S Gsmulled BIOUTHEG OFeim mulled
ULt d Camuiled usaBE g 6w’ — 66is
SHHLHHTUILTL 60 2 _MITHHD HHHS
a. BempeumISGL LmLLUS walsaisel Gumuisd G mb
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b. waismibE O&TGULS Domalemeard GF(miD

C. AHWMEEG 2 HaUH EDMBEUMET DiGHL WD eULHUIGITD]
d. Boseumer LU BBalmIb@Gl Ll $HHCa Heyl
e. alewL GgMwealsdensv

32.Who has written the Paasurangal (hymns) called ‘Pallamadai’?
a. Thirumangaiyalvar b. Sundarar
c. Aandaal d. Manickavasagar
e. Answer not known
“UeiTeMDeDL" 6T DIEMPGHBLIGLBILD LITHJHISET WIT(HENL Uenel?
a. SI(HLOBIENSUITLDEUMT b. abayiT C. SIGU0ILTGIT
d. wremlbaeuTgst e. alemL Oxfwealsdemev

33.Pugal Yenin uyirum kodukkubavar pazhi yenin
Ulagudan perineum kollalaar-
[for reputation they give their life - for guilt they won’t accept even if you
offer this world]
This Purananutru padal indicates
a. Wisemen (Sandrorgal) b. Kings (Arasargal)
c. Poets (Pulavargal) d. Warriors (Veerargal)
e. Answer not known
‘Usslp etellelr @ Ul OBTHSHEGIT  LiifleTeoT 6o
® u@GL el GUleID OBMeTaNeVT — 6160 LIBHT@TBBIIUTL 6D WTemd &L (HHma?
a. gmeI@mmTaHei b. spsiser C. L|6VGUTSH6IT
d. efyiesei e. alenL Oxflwealsvemev

34.The Government Final Consumption Expenditures (GFCE) comprises of the
followings:
i. Revenue expenditure
ii. Gross purchase of goods and services
iii. Consumption of fixed capital
iv. Consumption of variable capital
Select the correct one combination

a.iand ii only b. i and iii only c.ii and iii only
d.iand iv only e. Answer not known

SIIFTRISHHT DBIFH HISTe OFeve] LleTalHalaTaBemB 2 6TeNL Sl
(1) QUHEUTU! OFevalemisbe

(ii) QummeTseT wBEID CFameuseie CTHS CBTET(IPSHEL

(iii) HIEDEOLITEN  CLPELSHET  [BIHIT6

(iv) LOTEID  CLPEOSHET [BIBIT6
gflwrereuBens CaTHOH M.

a. (i) wpmhd (i) w G b. (i) wimb (i) wr G
c. (ii) wmmub (iii) L Bd d. (i) wmpid (iv) wl @G
e. alewL G flwailsdenev

8[Page




35.Consider the following Statements:
(1) SAKHI scheme is for women
(2) Poorna Sakthi Kendra is for women
(3) Village convergence and facilitation service is for women
(4) NAV-YUVAK scheme for women
Among these which are correct?
a.1 and 4 are correct b. 3 and 4 are correct
c. 2 and 4 are correct d.1, 2, 3 are correct
e. Answer not known
LNeiTeU(HLD SnBenm LITUISH:
(1) SAKHI-&ULIb OLiewisEnshsTeg
(2)  yitewr &g CaBAHIT CLICHIHEHHHTEIH]
3) &Sgmo rEEmenily  BpID  CFmeusemen  eeMHTHGWL  FHILLD,

QL1631 B ETHEB BT GTH).
4) NAV-YUVAK (bei-ujeusks) S LD, OLI6wTHEMHHBH TS
a. (1) wspid (4) & b. 3) wBmid (4) &
c. 2) wmmpd 4) & d. (1), 2) wBpw (3) &fl

e. alewL G Mfwailsdenev

36.Assertion (A) : The one stop crisis centre supports all women above 18
years of age affected by violence.

Reason (R) = : For girls below 18 years of age institutions and authorities
established under Juvenile Justice Act and POSCO act, 2012
will support.

a. Both (A) and (R) are true and (R) is the correct explanation of (A)

b. (A) is false and (R) is true

c. (A) is true and (R) is false

d. Both (A) and (R) are true and (R) is the correct explanation of (A)

e. Answer not known

Fmml (A): Qb Hewev OBHBHY MWD  EUT(LPBUWITED LTHSSIUL L 18

AWHHG CuoBuUlL DDAIHHI CLETIHEHHSGHID 2 5SB!

aryewid  (R): 18 euwugs@ Gopeuter OGN  GWHwSHHEhHE FBIT HHEF

glL g GurdsBsm gL, 2012 cwpeold  HMeUlLL L  [BBIeUTRISETHLD,

DIHHTTHEHD 2 HA|aIT.

a. (A) ovppib (R) @yewi@wo M wmpid (R) eemug (A) elBsrer gfuwimer
allengasLd
A) sam (R) &
(A) sfl R) seup
(A) oppid (R) @renpGo afl wmmid (R) eeug (A) elBsmer ghuimet
Q16 &HLO606V
e. alowL Gaflwalsensv

an o
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37.The Tamil Nadu State Action Plan on Climate Change (TNSAPCC) has
identified vulnerable sectors for development. Select the appropriate sectors
from the below list.

1. Sustainable Agriculture 2. Water Resources

3. Industrial pollution 4. Coastal Area management

5. Sustainable Habitat 6. Knowledge management
Select the correct answer by using the codes given below:
a.1,2,4,5and 6 b.2,3,4,5and 6 c.1,3,4,5and 6
d.1,2,3,4and 5 e. Answer not known

&ML [Hlemew MMM  GBiHS SO  wipew  Ggwed Hirb (ITNSAPCO),
UTSHSSUILULS Fnlgul 6J() HiMBBMeT SHewiL BbleTengl. HCp GaTHoHHLILIL (HeiTern
U puwiededmba Fllwmer siempenwl 0fle) GFuis.

1. mlemeowimenr GeuemTemTenLD

. BT GU6NRIGEIT

CaTOMBFTENED LOTEHLIBGSHHIHE0

&L Geomy U@ GloevTerTenio

. Hleweowime eumpailL LD

ofley GLosuTemTenLD

GPUWihdemen LWeTLUBHSHS FHWLTRT alenL  HTewIH:

a. 1, 2, 4, 5 woBmb 6 b. 2, 3, 4, 5 wBBID 6
c. 1, 3, 4, 5 By 6 d. 1, 2, 3, 4 wBBD 5
e. alemL G flualedensv

SRV NI

38.Match the following:
Productivity position of Tamil Nadu at national level
Crop Position of Tamil Nadu at National Level
A. Total Pulses 1. One
B. Total Oilseeds 2. Two
C. Rice 3. Three
D. Sugarcane 4. Four
E. Coarse cereals 5. Eight
A B C D E
a. 5 1 2 3 4
b. 5 4 3 2 1
c. 4 1 5 3 2
d 3 2 4 1 5
e. Answer not known
CUT(HSHSI%:
Cxpdlw slenaled FHOIWPS 2 BUSHH FHWeT Hlenev
ST UMD Cxdw T Henev
A. Qg FHTelwmisel 1. @&yl
B. etemiGemtul ailghgismel 2. @yewi(h
C. Oped 3. elpaIm)
D. smibLy 4. BTG
E. SLiomen sreiuimiger 5. e (p
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W g a
N s~ g
B~ g1 W N A
R WN W
TN R

a
b.
C.
d.
e. alewL Gy flwailsdenev
39.In how much time will a sum of Rs. 1,600 amount to Rs. 1,852.20 at 5% per
annum compound interest?
a. 2 years b. 5 years c. 4 years d. 3 years
e. Answer not known
T 1,600 syaigsl 5% iy dnl B eully aiFHD OBTewi(h 6IHHMmeT DLeWIHH6N60
T 1,852.20 euEb?

a. 2 oL BBHe b.5 syeiamein C.4 oyeiHbel
C. 3 SLemi(BBHe e. alewL Oz flwelsdenso

40.Find the ratio : 666 gm to 6 kg
a. 111:1 b. 111:10 c. 111:100 d. 111:1000
e. Answer not known
“666 HmpdhEG 6 HGeoTHIMD” 6IaIHeT BB HT6EwIH.
a. 111:1 b. 111:10 c. 111:100 d. 111:1000
e. alemL G flualedensv

41.Find the next letter
R,UXAD,__ .
a.E b. H .G d.F
e. Answer not known
SbSHD C1RHMHDH eI N3l5.
R,UXAD,__ .
a.E b.H c.G d.F e. alenL Oxfwealsdenev

42 Find out the next number in :
840,168, 42,14, 7, .
a.7 b.1 c.0 d.-7
e. Answer not known
SIbHS 6lewl WITGH!?
840,168,42,14,7, .
a.7 b.1 c.0 d.-7 e. alenL Oxfwalsoemev

43.A can do a piece of work in 12 hours. B and C can do it 3 hours whereas A
and C can do it in 6 hours. How long will B alone take to do the same work?
a. 2 hours b. 5 hours c. 7 hours d. 4 hours
e. Answer not known
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A eemuaum qn Geousmevenws 12 wewfl CrysHHed (wglimt. B wpmid C orbs
Gouewovemduws 3 wemll GrrHHed A Bmid C obs  Geuemevenuwl 6 1D6wT
Crrsdavd Oauwigd (wluT. 9/6s Geumevenwt B HaflGui eeileueney  Loswf
GBrHFHeL (IQLIMT?

a.2 1ewfl &6l b. 5 wewflser C.7 emiBel

d. 4 wenlser e. alenL Oz flwalsdensv

44.A works 3 times as fast as B and is able to complete a task in 24 days less
than the days taken by B. Find the time in which they can complete the
work together.

a. 4 days b. 6 days c. 9 days d. 7 days

e. Answer not known

A gemau B etaiueuengs &Ml gevid Geauemev GQFUIauged, 3 OLBIG Gausblometeu.
SluITed obH GCouemevenw!, B ehHHdb Osmemi CprHensd el 24 [BT6TH6NT
GOBTH  dBHAH (PISd (PdHmEH. Bmeurmd  CFha bHH  Geumevenul
WY&HES G CHIHmS SHTeNISH.

a. 4 mpreiamel b. 6 BreiTse C. 9 [BT6lTE6I

d. 7 mrefesei e. alewL Oxflwalsvensv

45.Find the compound interest on Rs. 15,625 for 6 months at 16% per annum
compounded quarterly
a. Rs. 1,300 b. Rs. 1,325 c. Rs. 1,250 d. Rs. 1,275
e. Answer not known
3 15625 6 WIHBIEEHSEG 16% pWiG el ly aibhHe WHeSG CFUIHT6V,
ULy HTELTENIBSHE H (pewB GFTHSUILILLT6D, Sl (h 6ULIQeNUIS HITCIIS.
a.< 1,300 b.% 1,325 c. 31,250 d.%1,275
e. alewL G fwailsdenev

46.At what rate per annum will Rs. 8,000 amount to Rs. 9,261 is 3 years, when
interest is being compounded annually?
a.3% b. 4% c. 5% d. 2%
e. Answer not known
I 8,000 oevigl cpaiil DeWIBHeed dnl B OFmewsd I 9,261 @b, ol B
ALY aiHD HTeNid. (ALY SLWIYBE @H (B DFNIL T CFHASBIHI).
a.3% b. 4% c.5% d. 2%
e. alewL O flwealsdenso

47.12 cows can graze a field for 10 days. 20 cows can graze the same field for

a.15 b. 18 c.6 d.8

e. Answer not known

12 wihsel @@ euwemev 10 mHT Hefled Cuismg ereied 20 wrhHeT 6
QUMY 61HFHeme BT &H6iTled GLoujb?

a.15 b. 18 c.6 d.8

e. alemL G flwaledensv
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48.Findxifx:§ =3.2

o

nswer not known
3 5
1

— 11— elelley, X 6 WA SITewIds:
1 33 @ H

x

b. 1 C.
15

p
~Nlwold >NIw

o~

e. alemL G flwalevensv

49.Find HCF of
x2 + Xy, x3y2 + X2y3
a. x (x +y) b. x2 + xy C.
e. Answer not known
15.OUT.6U. SHITEmTH.
x2 + Xy, x3y2 + X2y3
a. x (x +y) b. x2 + xy C.
e. alemL G flualedensv

x3y2 + x2y3

x3y2 + x2y3

50.What is the HCF of x4 -1 and x2 - 1?
a.(x+1) (x-1) b. (x -1)2
e. Answer not known
xt -1, x2 - 1eit 15.GUM.6u. HTewTSH :
a.(x+1)(x-1) b. (x -1)2
e. alewL G fwaisenev

c.x2+1

c.x2+1

51.The frequency range of X-rays are

d.xy (x +v)

d.xy (x +y)

d. (x +1)2

d. (x +1)2

a. 107 Hz to 101 Hz
c.10° Hz to 1019 Hz

e. Answer not known

X sFlisefler oHiT6euemt
a. 1017 upzpev 1012 Gamit”erd

c. 105 apmped 1010 Qamit 6rd euemiy

e. alewL G fwalsdenev

b. 1010 Hz to 102 Hz
d. None of the above

GLD.
b. 1010 upged 1012 Qami erd cueny
d. Gumampw ergie|feoemev

QUM

52.Above the curie temperature, a magnetic materials become

a. Ferro magnetic

c. Dia magnetic

e. Answer not known
swfl OQeuliuplenevdg Gosd
a. QuTGym snbheLD

d. Qui srhHsD

b. Paramagnetic
d. Ferri magnetic

&b GLTIHL BH6IT
b. umm MBSO
e. alewL G flwalsdenev

A5 B(HBGLD.
C. ML WIT SHMHFHLD
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53.When the full moon is at the closest point (perigee) of its orbit to Earth it
looks bigger and brighter, when we see it farthest point (apogee) from earth
is called
a. Lunar Eclipse ~ b. Blood Moon c. Blue Moon  d. Super Moon

e. Answer not known

Queniemrll Blevalem SBmIeU L LILTenS LYhdb@ We DiHFd DHIHGSWL uTIpgl,
Wseayb  GuiwgTeald IHs @6l o mLwstsad  ylbulesr  1Hesh
CaTemevalglielien  @T @ HHBHEH UMTEGWL Ourwa Mgl

LS LD.

a. ghdy Hysewrbd b. Heuliy meor C. [H6V [Hlevrm
d. @uuT Beor e. alemL Oxfwealsdemev
54.The basis of life is
a. Amino acids b. Proteins c. Lipoproteins  d. Nucleic acids

e. Answer not known

o uflflest SIQUILIHL  ¢LP6VLD 6TEITLIG]

a. oG SLOeUHIBET b. ursBise

C. Gamupliy LyHmhisel d. Pwseis oufleomiser
e. alewL G fwalsdenev

55.The digital India campaign was launched in the year
a. 2016 b. 2014 c. 2015 d. 2017
e. Answer not known
“dl 60 @HAWT’ eleId LITEFFTIID SHleumSIIL L SL6w1{H
a. 2016 b. 2014 c. 2015 d. 2017
e. alewL G fwalsdemnev

56.Match the following :
Book Author
A. If it Bleeds 1. R.C. Bhargava
B. The Endgame 2. Stephen king
C. Getting competitive a practioner 3. V. Pattabhiram
guide for India
D. Future of Higher education: nine 4.S. Hussain Zindi
mega trends
A B C
2 4 1
2 3 4
3 2 1
1 2 3

e. Answer not known
SLHMILaBenB CUT(HHSHIS :

an ow

[BIT60 S FAfwiT
A. @ Gouemenr HFHBHT60 1. R.C. unfiseur
B. ®mig elewemwim’ (p 2. erOleLieT &I
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C. Gurlgui®uguires &m: bawnalBsmer 3. V. ulcmigmb
DL (LpenBWITenT ensCuw®
D. 2 _wit sevalufler e1dHiTameold : @IS 4. S. ameBg6r MFIH
Gud @ ®el
A B C D
a 2 4 1 3
b. 2 3 4 1
C. 3 2 1 4
d 1 2 3 4
e. alemL G flwalevensv

57.Match the following :

Nobel prize 2020 Laureates Field

A. Harvey J.Alter, Michael Houghton 1. Literature
and Charles M.Rice

B. Emmanuelle Charpentier and 2. Economics
Jennifer A. Doudna

C. Louis Gluck 3. Medicine

D. Paul R Milgrom and Robert B Wilson 4. Chemistry

A B C D

a. 1 3 4 2
b. 3 4 1 2
c. 2 4 3 1
d 4 2 1 3

e. Answer not known
gfilwme QUTHSHHIH

2020 Gpmued ufla CUBBeUTESEIT SHInB

A. ampriBeu gl o1e0L 1T, woBsed GammL L 6sT 1. Bevdbduwib
LOBDILD  FTTEVEID 6TLD. NIV

B. @wwreniGeaisd smTOLBHAT oBmId GlegeiuT 2. QummenTSHMyLD
A Lo e

C. aouflerd &Hond 3. IHHSHIOID

D. Gumsd &yT-1060871D oBmid grum’ 1. efledgFer 4. Geugdluiuied
A B C D
a 1 3 4 2
b. 3 4 1 2
c. 2 4 3 1
d 4 2 1 3
e. alemL G flwaledensv

58.In which tribal group of India does Afghan and Baloch Brahuri group
belongs to?
a. Turko-Iranian Tribe b. Australoid
c. Nigeroid d. Cacavside
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e. Answer not known

OhHw  LPBIGRUISTT aImBHT60 6lhd LIDRIGIQUNED SLUISTET  OBMID  LITeIF-
ym ) @L1b GQumpid

a. HITCHT-@ymefluledr LILPRIGIg b. operdLeomui

C. BaHITUIH d. stds Fmui®

e. alemL G flwalevenev

59.The width of the broad gauge railway is
a.1.576 m b.1.676 m c.1.776 m d.1.876 m

e. Answer not known
SIBLILTmS TulevBeuullesl ©I&60LD
a.1.576 18 b.1.676 8 c.1.776 8 d.1.876 15

e. alemL G flwalevensv

60.Which is the Mountain peak in India that is also known as “The five
treasures of snows”?
a. Mount Abu b. Gurushikar  c. Anaimudi d. Kanchenjunga
e. Answer not known
“oobgl Ul CUTESagmseT” el SPWLILGL QHFHW WWemevd Fab?
a. eI S b. @&magsit c. ogmar (Iplg d. BEHFET LQmIBT
e. alemL G flwalevensv

61.Harihara and Bukka served under the Kakatiya ruler of Warangal was
a. PrataParudra I b. PrataParudra II

c. PrataParudra III d. PrataParudra IV

e. Answer not known

amflamyT BpID USsT  6hsh &STeHW  eutgmmidser o fwmenflid  Caene
OCFUIgHeIT

a. (PpGHeUMD LIFSHTUHSH ST 60t b. @yewimb ySHTLHSST6sT

C. ceripmd LIFSTL(HSHSH T 60T d. mreiamd LFSTUHSSHT6T

e. alewL O flwalsdenso

62.Name the person who was associated with the News paper “Sambadh
Kaumudi”
a. Raja Ram Mohan Roy b. Swami Dayanand Saraswathi
c. Dadabhai Naoroji d. Keshav Chandra Sen
e. Answer not known
‘Fioug Csmenpd)’ eaiB ubHfdama wnCrmd CHTLTLemL I
a. gregmymid GLomasesr Ul b. Famd swrelhs Fyerveid)
C. sreTUTWl OBenGyred d. Czgeu gpbdy Gge
e. alewL G flwalsenev

63.Regarding the taxation system of Krishna Deva, the ruler of Vijayanagar.
Consider the following statements:
(1) The tax rate on Land was fixed depending on the quality of the land.
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(2) Private owners of workshops paid on industries tax.

Which of the statements given above is/are correct?

a. (1) only b. (2) only c. Both (1) and (2)

d. Neither (1) nor (2) e. Answer not known

AlQWIHS] W66l &Hl(HageiCHeugmiit eaufl alFly (WPedBUled SDHEHEWIL  61hS
algl(pemmenwt  Lleruimsleri?

1. Mev auflwrengl HlevdhdHer Heitend SigliLienLufled MHiTerrulldbalILLl L .

2. seolwnT Gswmpfed FHpeuamseler (pHeoTaiser OCFHTOMBEFTEN60  euflenul
CFaVISH H 6.

a. 1 w @G b. 2 wl @G c. 1 w@mmib 2 1wl B

d. 1ib Bedemev 21D Bevem6V e. alenL Oxflwalsdensv

64.How many strata of buildings have been revealed at Mohenjadaro?

a. Six b. Seven c. Eight d. Nine

e. Answer not known

QLoTsEha HTETTONL ®_giter &L_191_MIH6TT60 618 FH M6 LDGUST 6001 (B (S B 61T
ST (BLIQSHBLILL (HeTTernd)?

a. ol b. eap c. ol (® d. @ems

e. alemL G flualedensv

65.The First All India conference of Lokayuktas and Upa-Lokayuktas was held
in
a. Shimla b. Calcutta c. Goa d. Bangalore

e. Answer not known

Gouords  SUIBHT OBBID 2 LGTS  ubSHTalET  (PFHO P  BbHFHul
SHHSHSTRSD HoLOUBB &b

a. dlbeor b. sevaHHT c. Gammeur d. QumiserpT

e. alewL O flwealsdenso

66.Who will act as the President of India when the office of the President and
the Vice President are vacant?
a. The Chief Election Commission b. The Prime Minister
c. The Chief Justice of India d. The Speaker of Lok Sabha

e. Answer not known

GRWITFHSH HDEVAT LOBBID HIMEWT GUWITHSH HMeVAIT LHal G MISH6T SHTeUWITS
Bmseb  Curgy GLRWIESH Hevaunrs OlFwedLIBLIGUT WImT?

a. HmeVMIDG BHTHEL SLEMETUILD b. dysior

C. 2 55 DBIHIOIB HMEVMLD HEHILIG) d. Geordaumr FuUTBTUIST

e. alemL G flwaledenev

67.When was the first Lok Sabha dissolved?
a. 26 January, 1957 b. 04 April, 1957
c. 15 August, 1957 d. 02 October, 1957

e. Answer not known
(PHeVTeUGE| LDSH6Ten6ed 61IGLTEH HEnELHBLILIL L G
a. 26 seeufl, 1957 b. 04 gy, 1957

17]Page




c. 15 gymerdl’, 1957 d. 02 @&b@Lmur, 1957
e. alewL G flwalsdenev

68.In the Kesavananda Bharati Case, the Supreme Court declared that
(i) the preamble to the constitution of India is not a part of the constitution.
(ii) the preamble to the constitution of India is a source of power and a
source of limitation and prohibition.
(iii) the preamble is an integral part of the Indian constitution.
a.ionly b. iii only c.iand ii d. ii and iii
e. Answer not known
Caxpgaumenbhd UMIH aUPHHL o FFHAHIOMIMBID UPHISW  SHTUNeT FTFTDFIOTSSD
SEHHENIL. FnBMIH6N6D 61 .6Ten6l FMULITeTene?
(i) @AW SFfweoemblls FLLSHST (WHe D] DleleuTSIUIOmLILE FL L &6
Q(H SDIRIGBLO6V6V.
(i) @bHw ofweomblLF FULSHET (PHeYDT, DITFHEM]SHS 6

CarMBBITWTSAID DTFHBMIHMBDH S BHULGHHID UTLDLIBG,
2 UL FHTHAD 2 (HeUTHSLUILILL FI.
(iii) (e eeiLgh BHHW  DFFWCOMLIL FLLHHET QHBIBMamHDH
LGS WS LD.
a. 1wl @w b. iii o Bid C. 1 LoBmIb ii d. ii @b iii
e. alemL G flualedensv

69.Swaranajayanti Gram Swarozgar Yojana (SGSY) was restructured as,
a. The Integrated Rural Development programme.
b. The Swarana Jayanthi Shahari Rozgar Yojana.
c. National Rural Livelihoods Mission.
d. The National rural Employment programme.
e. Answer not known
FalteoiOmuwihg  &Hgmo  &FWEsMPL Sl  (SGSY)  eabmd  GQuuifled
LOBIFFTDSHBLILL L F)?
a. Q(HhIPSmenhSH 2aTH eUeNTFHSH Sl LD
b. sautemt Ouibd) BSTIUB Geueneveuruiig i L ib
C. Bxpdlw oays BaursHmy GuisbdLD
d. Gsflw eays Geuemeveuruliiy Hi LD
e. alemL G flwalevensv

70.In India goods and service tax was implemented on
a. June 1, 2017 b.July 1,2017 c. April1,2018 d. August1, 2018
e. Answer not known

@phHwmaled F7HE WBBID CFemeu eurl SILOLIBGGHSLILIL L F|.
a. et 1, 2017 b. sgremev 1, 2017 c. gliged 1, 2018
d. eysed” 1, 2018 e. alewL Oz flwailsbenso

71.ASPIRE was launched in the year 2015 for the purpose of,
a. To improve the Educational standard of the rural poor.
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b. To increase the Employment opportunity in the urban centres.

c. To accelerate Entrepreneurship and promote start-up.

d. To Enhance the Educational facilities in the rural areas.

e. Answer not known

ASPIRE — 2015 augl su@mLIb 6hs CHTHSHHBHTE SHleubsILL L GI?

a. gemip HImoLs HeLal SHIHMSH 2 _WITHSHIHBHTE.

b. p&MILB LGHBeM0 CaumeLaITUILILEMET 2 _WITSHHI6USHBHTES.

C. Gampevpamariienll (WhsHs albHed WBHID YHw CFHTHeosemen 2aaEaldse60.
d. seval euFHaamen oars LiGHGBMND HBLILIGGHHIH6E0

e. alemL G flwalevensv

72.Which of the following is not associated with Gopal Krishna Gokhale?
a. Monthly Magazine, ‘“Voice of India’
b. Poona Servaj Samaj
c. Servants of India Society
d. Secretary of Indian National Congress, 1903
e. Answer not known
Lettaumeueiaummled Gamumev slmagent BamaBGsvayl 61 OHTLTL E60e0THH 61517
a. 1% BB, ‘BhFwrelesr Gyed’
b. yenr gnieuregeier &um
C. @bFHw 2amHulT FhisLD
d. 8pHw Cardlws srmiIdrder Gauleomen, 1903
e. alewL G flweaisemev

73.In 1937 Mahatma Gandhi published a series of articles in his paper. The
Harijan and proposed a scheme of education called , better known
as the Wardha Scheme.
a. Elementary education b. Basic education
c. Secondary education d. Higher education
e. Answer not known
1937 b eI STHOT SMHEH HaIH FH amfmer e LSS Nbmauled
OaTLT sl (omysmen  GeuelullG, euIsT HILLD 6aip  SmPSHSLILIGBLD
HOASHFHIL L HMS (P&TELOTIOIHSHTIT.
a. QFMLs5d5 Heval b. swgliemL seoal
C. BmLHemevd Heval d. o wit seval
e. alewL G fwailsdenev

74.Bhagat Singh, Raj Guru, Sukh Dev were hanged on
a. March 23,1931 b. March 25, 1931
c. March 27, 1931 d. March 30, 1931
e. Answer not known
UsSHFmI, JTRG&H, Hs6Heu BHCWIMT HTEHSeOIL UL L [HT6l
a. wmrg 23, 1931 b. & 25, 1931 C. & 27, 1931
d. g 30, 1931 e. alemL Oxflwalsdensv
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75.”Dravida Nadu” was the magazine of which party?
a. Dravida Kazhagam
b. Dravida Munettra Kazhagam
c. Marumalarchi Dravida Munittra Kazhagam
d. Justice party
e. Answer not known
“gmaill. BTG abss Slduldt BHWTE HbHSSI?
a. AymalT HpsID b. FymaiL (peiGaiB® HLpSHID
C. LBIoeVTEFS Hymall (WerCeaiBm &HLpsHLD d. pglésl g
e. alewL G fwailsdenev

76.Match the following:
A. Swedeshamitran 1. Young Radicals
B. Gita 2. De facto Editor
C. Bala Bharat 3. Tamil Translation
D. The India 4. Sub Editor
A B CcC D

a. 4 1 3 2

b. 4 3 1 2

c. 3 2 1 4

d 3 1 4 2

e. Answer not known
QUTHSHHIB :
A. 58x5105 76 1. Benb [JmgdHeHe06rd
B. &g 2. BEOL(POB  LIGSILILTETIT
C. umev UMY 3. SO GomPGLIWITIL
D. 8 @pgswur 4. FHlewewt LGLILITeNT

A B CcC D

a. 4 1 3 2

b. 4 3 1 2

c. 3 2 1 4

d 3 1 4 2

e. alewL G fwailsdenev

77 Namakkal Kavinger's song “Without sword without blood one was has
come” was first sung during
a. Non-Co-operation Movement b. Vedaranya Salt Satyagraha
c. Gandhi’s visit to Madurai in 1936 d. Quit India Movement
e. Answer not known
BTSH60  Halehfler  ‘@HIHulan @rsHsldean] wHHOTEm aImHSHS ™ LML
(PSHSBI(LPHeJ60 edldbBLILILL BB
a. PSHHIEMLPWITEDLD  EBUIELD
b. Gougmyewiuid o (1] FHHwmdgsid
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C. L&THOT SMhHHuller 19360 SLewi(h LGHIENTLI LILIGHILD
d. GeusitemenuiBean GeuefGuIm BuisasID
e. alemL G flwalevensv

78.” men to share his meal.
The hand of hunger’s sickness sore shall never feel”.
In the above Thirukkural, whom the hunger never affects?
a. A rich person b. A virtuous person
c. A saint d. One who shares the food with others
e. Answer not known
LF CuwiesTenirh

Slifewnt Hewil eoflgl.
GuoBsewiL. GHmeT WTengll LFlilenl HewILTH 6lerdmEI?

a. OFeL6UbHSHM] b. uewiLmeneny C. HoUSHH 6]
d. uGsalewILICI]T e. alewL Oxflwalsvensv
79.Match correctly the sangam lands with related Gods
A. Marudam 1. Varunan
B. Neydal 2. Indra
C. Palai 3. Mayon
D. Mullai 4. Kottravai
A B C D

a. 2 1 i 3

b. 4 3 2 1

c. 3 4 2 1

d. 1 D 3 4

e. Answer not known
FMIS HT6V HeVMmIBEHL 6T OFHTLTLmL W OFHUlaumisemer FRums QUTHHHIS.
A. omasId GL(TFGUOT 63T
B. Gpuiged Bbglyest
C. uremev Lom@uumest
D. (wpevemev CBTHBBEme

A
a. 2
b. 4
c. 3
d.
e.

N NN I SR

N B W = o
WNN R A

1
alewL G fluwailsvensv

80.”An envoy (ambassador) meet with Gowravas is fearless potentialities as
already the sacrifice (vallal) Akkuran composed the history”
Identify the correct meaning for the statement from the four alternatives
given below.
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a. Before the composing of Ramayana, the Great War of India was

written in Tamil

It talks about Gowravas.

It denotes the sacrifice Akkuran

It is the history of the ambassador who went for peace to Gowravas

e. Answer not known

‘Bumirmpemev WOGHS FTRIDLISETLOGITT(H

SIIyGHSIemB Ul FHlewle enL  HLETTENLD

DHGHTA ST, WBH GlemTenDemUIBUI!” —

Suumed auflder GBIUIGL U8 HHBSH.. ...,

a. @ymomwen eugeuTm SHOWPeL erIpHILGAUSBS (WHIGU uMrEH eugeorm HLOHGe
WS Bl LGl

b. Qzenyeutsements UBKS GBS GBS

C. DIHGT6T 6leIB OB TENL 6U6TETED

d. GsemyauTaBent(h FrsHTend GUF FHMH OCFSHB auFeOTH)

e. alemL G flualedensv

a0 o

81.In Arikkamedu, the excavation was conducted by

a. Dr. Jagor b. Stuward c. Robert Bruce Foote
d. Martimer wheeler e. Answer not known

OIflda6l 1960 LemaCUM(HelT uTuIFslenul GLoi36\%TeuiL 6uiT

a. LmsLT. Gmasbir b. ev@Beum_

C. UM LyehHeroLL d. wmmgoT efeur

e. alewL G Mlwaisdemev

82.Name the metal used by the people of South India from the Sources
a. Copper b. Gold c. Silver d. Iron

e. Answer not known

apmmseiler  almereuts  OFHet  @phHwmaled  (PHevmeugkl  LWTLHSHSHU
o Boursld 61gI?

a. Smolyb b. smisD c. Geueiterf d. &miby

e. alewL O flwealsdenso

83.Consider the following:
1. Itis a tool for managing decision making by combining both spatial and
non-spatial data.
2. Avoid in accuracy in GIS data collected by various departments.
3. To monitor agricultural land holdings.
4. To create a generic model of GIS
Identify the major objectives of Tamil Nadu Geographical System (TNGIS)
and answer the codes given below:
a.1and 2 only b.2and3only c¢.1,2and3 d.1,2and 4

e. Answer not known
&0 CETHEHSLILL (BHeTemaBens HHHHev CFTeTs :
1. @L1b aMhs WBBID LD FTITe SHJeysHemen SHmL Wl EenenilLSHe (LoD
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WPWRLELUMS HITeUSIILSBHTET @(H SH(HAIWTGLD.

2. uevBauml Fiemmsefled @mba CaaMasii L GIS sseaevseisd gBLGBLD
SHUBIBM6NSH HalThs.

3. Gouenment [Hlev © L NLDBHM6D  &HewIHT 601D

4. GIS sama @m OuTgl WTHfdU 2 (HeUTHESSH60.

CaThésslul Lamausene  SOWMHTG  yalulwed  Semwller  Chrohamiseamern

sILBIHH GBRWGsmeT LWaL(BSHSH alenL SHTemls.

a. 1 By 2w’ @G b. 2 wBmb 3w G

c. 1, 2 wBpLd 3 d. 1, 2 wBmb 4

e. alewL G flwailsdenev

84.The Tamil Nadu State Government programme which is conducting
adolescent clinics at the schools for the promotion of school children’s
health is
a. Nalamana Tamizhagam b. Vazhvoli Thittam
c. Pudhu Vazhvu Thittam d. Kudumba Nala Thittam

e. Answer not known

ueTelldefled LUTeID wTewTeuTHelledl 2 160 Hevewert  GbLBGSHSH  UelTeriHerlled
BeNMbLIHA!  LDHSHHIMIDMDIHMET  CFUIOLBHSH B  SOPHTH  LOTH6V S Fleot
S LD DG LD.

a. [HEVLDTE SHLOPBLD b. ampQeurefld S 1b

C. Ugl eumpeldh &HiLIb d. ®®Gbu Bed FH LD

e. alemL G flualedsnsv

85.The social reform wing envisaged by E.V.R. Periyar after his visit to Soviet
Union was
a. Self-respect socialist party b. Self respect league
c. Thani Tamil Iyakkam d. Republic
e. Answer not known
F.Qeugr. QuflwmT Gamelwd welwer CFem aubd LIBEG 2 (Hhaurdhs SHToTeldHd
gepsd FTHmHHL Ufley _ ou&ib.
a. W wilwmmg OLITSHIHeVS L& b. aw wilwmemnssd GrpLowb
C. HH HOD BuIbHLD d. eywurs
e. alewL O flwealsdenso

86.Consider the following:
1. Collective farming
2. Micro irrigation with 100 per cent subsidy
3. Uzhavan Mobile App
4. Setting up solar powered pump sets
5. Natural farming
Indian chamber of food and Agriculture selected Tamil Nadu as a best
agricultural state. Few of them are listed above. Select the correct reasons
for the awards from the said reasons.
a.1,2,4and 5 b.1,2,3and 4 c.2,3,4and 5 d.1,3,4and 5
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e. Answer not known

&6 OBTHHSILLLaUBeDB HHHH60 O\BHTeiTeneyLD:

1. QpmhIgemenihs GealerTemrenln

2. 100 55aldls WIENUSSHIL T Fnlgul [HIGWT LITFGILD

3. 2 1pauet QomenLied GFuwied

4. GgmeomT LIDIGFL. HIHLOSHHED

5. BumBemas Geuenmewientd

by o ewie] BBID Geuenmewt oWl SOWSHMSH FBhHsH GCeuenmenst
wrpeowonsd OFfley  CFuigeTeng.  iHear  sijeomiseieo  Fev  GoGev
GBRUILOUC BelTengl. ulwededmbas  Fllwrer  alemLedw  GBUiBasemenLl
LWISTUBSHS  HT6w1H:

a. 1, 2, 4 BB 5 b. 1, 2, 3 wBpD 4

Cc. 2, 3, 4 oBmIb 5 d. 1, 3, 4 wByd 5

e. alewL G flwalsdenev

87.The AMRUT Mission in Tamil Nadu focuses on
a. Provision of basic services b. Milk Production
c. Rural transformation d. Education
e. Answer not known
“OILL60 pIFTenIoLY  oB@ID  BSTUB  WLIBBRSHHBSTET G HLOLDHTL Q6
AMRUT - gupaisr Crrs@
a. SlILmL UFHB6T H(HEUS b. umed 2 _BusH
C. 261J& LIGHHBmeN 1DTHBY DIeNI0SHFH60 d. seval
e. alemL G flualedensv

88.The interest for a principle of Rs. 4,500 which gives an amount of Rs. 5,000
at end of certain period is.
a. Rs. 500 b. Rs. 200 c. 20% d.15%
e. Answer not known
R GPUI L &TeuddBE I 4500 SFasbE Oworss Oxtads I 5,000
SHMLSHHTEL DIHEIHL Ul HeTAIL 1 616116166 ?
a. ap. 500 b. e. 200 c. 20% d.15%
e. alewL G fwalsdenev

89.If x = (1)1 + (-1)2 + (-1)3 + (-1)* + ....25 terms, y = (-1)1 - (-1)2 + (-1)3 - (-1)* +
..... 25 terms. Then x2 + 12 is
a.- 625 b. + 624 c. 626 d. - 626
e. Answer not known
x=(-1)1+ (-1)2+ (-1)3 + (-1)* + ....25 2_miyser y = (-1)1 = (-1)2 + (-1)3 - (-1)* +
... 25 2 _mlEeT eTelled X2+ Y2 GIILIG)
a.- 625 b. + 624 c. 626 d. - 626
e. alemL G flwaledenev

90.Find the number of term in the number series 3, 6, 9, ..., 111
a. 37 b. 38 c. 36 d. 42
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e. Answer not known

3,6,9 .. 111 g GaiLT euflewguled o 6Ten o mIi|EH6eMedT  6T6T6m01HMB
61601601 ?

a. 37 b. 38 c. 36 d. 42

e. alewL G flwailsdenev

91.Sum of digits of a two digit number is 9. Its digits are reversed when 27 is
added to that number then the number is?
a. 69 b. 36 c. 47 d. 63

e. Answer not known

@ wlevdas eamianial He0bBmIHNMGT BB 9. DibdH elawIamIL 6T 27-83 &nl BHLD
Cumgl BevHEmIG6eT G LD LOTHISIEBET 616160 DibHS 616w 617

a. 69 b. 36 c. 47 d. 63

e. alemL G flwalevensv

92.Simplify j49 + \/220 ++/16 ++/81

a.15 b. 12 c.8 d.7
e. Answer not known

&@&‘3@&3:\/49+\/220+ 16 +v81

a.15 b. 12 c.8 d.7
e. alemL G flualedensv

93.1f area of a quadrilateral having one diagonal 7 cm is 63 cm? and if length of
perpendiculars drawn from the opposite vertices to that diagonals are 5 cm
and x cm then value of x is
a.9cm b.23 cm c. 35 cm d.13 cm

e. Answer not known

63 QF.15° ugliLeTaleTen @I BTBBISHHG @b cpemevall LD 7 G&.15 Guweid
adit o FdaeafllelBba Slbewensvall LHIHMBEG euemdWlLBL &dHHISCHTHHe 6
HeMmIBeT 5 OF.15 BmIb X 6F.10 ereled X-631 DAL

a.9 Gz.8 b. 23 Q5.8 c. 35 QF.16 d. 13 Q&.6

e. alewL G fwalsdenev

94.The floor of an office building consists of 200 rhombus shaped tiles and
each of its length of the diagonals are 40 cm and 25 cm. Find the total cost of
polishing the floor at Rs. 45 per sq.m.

a. Rs. 900 b. Rs. 200 c. Rs. 4,500 d. Rs. 450

e. Answer not known
QT  SeIvsEd &SLLLE Hoguled 200 gFTuigasy  eugeleorer  gBSHe6I
LFHSBILGH B, BHeMN6T camevall L misbeller ojemeser 40 O&.15. oB@iIbd 25
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QF.15. etedled, SHIeOW OUOHEILLF FHT WLL[HSEG H. 45 aiplb IsHHF
OFevem6ID SHTE0IH.

a. <900 b. % 200 c. 34,500 d. X450
e. alemL G flwalevenev

95.A sum of Rs. 48,000 was lent out at simple interest and at the end of 2 years
and 3 months the total amount was Rs. 55,560. Find the rate of interest per
year
a.6% b. 7% c. 8% d. 9%

e. Answer not known

SLMB QUPRISLILILL SFe0 I 48,000 &G 2 UWIBH6T 3 THdH HTVSHHBGSLI
a1 sefleulp cpeold GQuUBLILLL  Gomdhs GOFTensd I 55,560 &b B(HbHH3
aaey, QLY aIHHMmHE SHT6wIH.

a. 6% b. 7% c. 8% d. 9%

e. alemL G flualedensv

96.In what time will Rs. 5,600 amount to Rs. 6,720 at 6% per annum?
21 vears b. 22 vears c. 32 vears d.31 ears
a.27y .23y .37y 33y

e. Answer not known

ashHmen  opemihaeiey . 5,600 yemibsE 6% Hefeully einsHed . 6,720
OB 2 UWI(HLD.

a. 2%&66&@55@1 b. zg%m@&;m c. 3§ o®sst  d. 3§g3,m@asm

e. alemL G fluialedensv

97 There are 50 students in a class. If 14% are absent on a particular day. Find
the number of students present in the class.
a. 36 b.7 c. 43 d. 38
e. Answer not known
@0 auGlled D0 TewiauTHeT 2 6ened]. @ GBI L mreafled 14% eimms
yflwelevenev elelled auhHend LIfihd LoTewTeuTHeile ocTewienlbend SHTewIs.
a. 36 b.7 c.43 d. 38
e. alewL O flwealsdenso

98.72% of 25 students are good in Mathematics. How many are not good in
Mathematics?
a. 5 students b. 6 students c. 7 students d. 8 students
e. Answer not known
25 wrewieudefled 72% Guit  sewigll UTLSHHO HBEOOWITETITHET.  SHewh LI
LML $FH60 HmenowBCmT e1dHHement Guit?
a. b oTewIaITH6N b. 6 memauTHeN C. 7 LDTGTGUTEH6IT
d. 8 wrewieuTser e. alemL Oxflwealsdemev

99.The L.C.M. of two co-prime numbers is 5005. If one of the numbers is 65,
then find the other number
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a. 65 b. 66 c.1 d. 77

e. Answer not known

®m g ust eemisener L5.8.0. 500D. @ erewr 65 ereulled, OBGMWTT 6T6wI  6T6HT6N?
a. 65 b. 66 c. 1 d. 77

e. alemL G flwalevenev

100. If 48% of 48 = 64% of x, then x =

a. 64 b. 56 c.42 d. 36

e. Answer not known

48 Qir 48% = x @1 64% ey X &1 WL UGID.
a. 64 b. 56 c.42 d. 36

e. alemL G flwalevensv
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